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Please make sure that the printed pages in this question paper are 8 in
number and it contains 15 questions.

NOTE: The question paper is divided in to four sections (A, B, C, and D)

i) SECTION A consists of 1 Question (10 Objective Type Questions of 1
mark each).

ii) SECTION B consists of 4 Very Short Answer type questions of 1 mark
each.

iiil) SECTION C consists of 7 Short Answer type questions of 2 marks each.

iv) SECTION D consists of 3 Essay type questions of 4 marks each with
Internal Choice.
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SECTION-A
(37T - T)

i) Which SQL function is used to retrieve the smallest value from a
specific column in a database table?
3O ¢l H Tah fafise &idd & @98 BIeT Al 9ed i & fov fha
SQL el H 3YIRT fhar SArar g2
a) LEAST ()




ii)

Vi)

vii)

viii)

b) MIN ()
c) SMALLEST ()
d) BOTTOM ()
Which of the following is a valid Python exception handling clause?
fFAfeai@d & & FiaT a1 Iy v gsfoier Fara AT g2
a) if-else
b) try-finally
c
d
Which type of cable carries data in the form of light signals?
Pid T YR &T haol ST DI ThIA ohdl & FF H of SATAT §7
a) Twisted Pair Cable / Tfa¥es R FHdel
b) Coaxial Cable / &IUfFaIel dheol
c) Fiber Optic Cable / ®IgsR 3iiftes el
d) Ethernet Cable / $2RIe &hael
Which of the following is not a type of malware?
Pt & @ Sl a1 Ao F TSR A& &7
a) Adware / TSaIX
b) Trojan / grstel
c) Repeater / Rdiex

) while-try
)

for-except

d) Worm / aie
Full form of SMTP is Protocol.
SMTP &I 1 oATH Hrerelel Bl

is the largest type of network that spans over countries

or even continents.

a8 93 YRR & sicds g il 2t AT Aglearar de el giar

gl

Mesh topology is more expensive than other topologies because of its high
cable requirement. (True/False)

ALY TSN 3T dlelion ST Jofall & e gl gich ¢ Fifeh sHA 3o
Sheel I TARTHAT gldl g1 (TcT/3 )

In a queue, the insertion of elements happens at the front end, and the

deletion occurs at the rear end. (True/False)

g (Queue) ¥ tfaT & 0T WS B (Rear) & giar g, 3R el 3rmed
B (Front) & gIaT §1(Tca/378cY)

Direction: In the questions given below, there are two statements marked as

Assertion (A) and Reason (R). Choose the correct option out of the
choices given below in each question:



e @ fGu a1w weaAt &, FuaT (A) 3R FROT (R) & & 7 RATAT aF Fa &
Tl 9T H A RT 3T [(pedt F & T8 Qehed &7 IIT AT
Assertion (A): A stack follows the LIFO (Last In, First Out) principle.
Reason (R): In a stack, the element inserted first is always removed first.
HYA (A): ¥¢& LIFO (ARET 31, Bee 313¢) FAcyid &l dreled Tl gl
FROT (R): T&F H TI¥ Ugel STl IAT dcd §HAT a9 Yo gSAT ST &
a) Both (A) and (R) are true, and (R) is the correct explanation of (A).
(A) 3R (R) 2=t &Y 8, 3T (R), (A) & FET camedm e &l
b) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(A) 3R (R) =t @@ &, afera (R), (A) &7 TET arear g7 T gl
c) (A) is true, but (R) is false.
(A) T §, ofheT (R) 31T gl
d) (A) is false, but (R) is true.
(A) 38T g, afdet (R) I &1
Assertion (A): A router is used to connect multiple networks and direct data

packets between them.
FYA (A): T3 FT 3YANT FS Acasd I g 3R 398 dT 3T Jhe #F HERT
o & foT fRar Sar g
Reason (R): A router operates only within a Local Area Network (LAN).
FROT (R): T3 Hdel Th aliehed TRAT Aedsdh (LAN) & ik T T gl
a) Both (A) and (R) are true, and (R) is the correct explanation of (A).
(A) 3R (R) g @& &, 3R (R), (A) & FEY sar&am Il &
b) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(A) 3R (R) gt TEr §, aifhet (R), (A) Fr TEr SI&ar Agr el gl
c) (A) is true, but (R) is false.
(A) T &, AfFaT (R) 31T B
d) (A) is false, but (R) is true.
(A) 38T §, afdhet (R) TF &
SECTION-B
(I - o)
. What is the syntax of the close() method in Python while working with files?

qIIYsT H BISell & AT HIH del & [oT close() AYS &1 [beaFq Fa1 872

. What does the INSERT command do in SQL?

SQL # INSERT &AS FaT il &2

. What is stack in data structure?

3TeT TTFa | Th T g7

. Write the names of any two commonly used networking devices.

fheel af AT §T F 3YANT fhT S aTell Acaichdl f3asd & 1 ford|
OR /a1



What do you understand by the term “computer network™?
39 “hegex Heas” Asq ¥ FIT FHSA 67

SECTION-C

(IrgETeT - )

. Case Study:

Rahul recently downloaded a free game from an unknown website. After
installing it, he noticed his computer slowed down significantly. On further
inspection, he found that the game was silently running other unknown
programs in the background and sending unusual data over the internet.

TEeT & §Tel &1 H Teh 37 dGEISC & Teh AT AH S3AIS fohar| SEiol el &
STE ST 3T P S FRR FE AT @ I F ST FA R G T B A
JIATT 3w AT YATH Tl g7 AT 3R FeAT & ATCIH F AT 3T H e
ar|

i) What type of malware is most likely responsible for this behavior?

I gaER & T §e0 A WEe F 9ER F deaww i §2

a) Worm / @&

b) Spyware / FTURAIT

c) Trojan / CISteT

d) Ransomware / {@HIIR

ii) What is a common purpose of this malware?

3 AW F1 UH AT 36T FIT @l 82

a) To display unwanted ads / 3f=Targ faa9sT G@=T

b) To steal personal data or control the system secretly / SIfFdaTd 3eT II&AT AT
fOFea 1 aed &9 @ AT A

c) To demand money for unlocking files / ®IaT & 3Tdi F & faw T ¥
HIAT L&A

d) To delete important files / Hgcaqul ®Igell T geTall

. How is a Spyware different from an adware?

T TIREEA, TSaaX & 8 et &7

. Describe any two SQL aggregate functions with examples.

fohegl &I SQL Talele e &l 36180T Tfgd AT
OR / &T



10.

11.

12.

Consider the following table named “Product’, showing details of products being
sold in a grocery shop. / T& ¢dal W AR &Y ST a1 "Product” §, St T
forrel T geptel # ST ST ¢ 3cUrel & faavor i fe@rd g

PCode PName UPrice | Manufacturer

po1 | \veshing 120 Surf
Powder

P02 Toothpaste 54 Colgate
P03 Soap 25 Lux
P04 Toothpaste 65 Pepsodent
P05 Soap 38 Dove
P06 Shampoo 245 Sunsilk

Write an SQL query to create the "Product" table with appropriate data types
including primary key declaration.

WSHA i Afed IUFFA 3T JhRT & AT "Product” T &=l & faw T SQL
Fa ford|

When is the ImportError built-in exception raised? Provide an example to
support your answer.

ImportError -3 TFART Fd 3315 SAldl g7 T 3R H THIA & fow
Teh 3¢Tel0T ¢

Explain any two network topologies.

Rl &) Sead Aaeish @ Tase AT

Define the following: / FeATaf@d &1 aR#RNT FL:
a) Throwing an exception / U1 Vsl TFHRAS (UATG thehell)
b) Catching an exception / $RIT VT TFARISA (3UAIE Thsa)
OR/M™&AT
Write the file mode in python that will be used for opening the following files.
q8del # fAefafld Wil # @ielel & folv 3931eT T Ser arel ®wge Als ford|
a) A text file "example.txt" in both read and write mode.
Teh TFEC BISe "example.txt" F Teat 3R fo@sr gt Mg A|
b) A binary file "bfile.dat" in write mode.

Teh 5T ®Iga "bfile.dat" FI for@sr & AlE H|

Case Study Question:
Priya is attending her online class through a video conferencing app. During the



session, her video and audio keep buffering. She checks her internet speed and
finds that her current download speed is only 512 Kbps, which is much lower
than the required speed for smooth streaming.

o NI HISHRT VT & ATEIHT F 39T AAST Folrd H AT of W &l I &
alre, 3aer difsaAr 3K A3 TR-aR 90T & W@ 81 98 39el $c¥aie TS Siadh §
3R Uil & T 3R acAT Si3eTcis TS shael 512 Kbps 8, ST gars TEHT &
foT 3mavgs TIs & 95T FA ¢l

i) What does Kbps stand for?

Kbps T Far1 31 82

a) KiloBytes per second / fhdlleTsea gfd dhs

b) KiloBits per second / farelifeca ufd @shs

c) KiloBeams per second / fahellsiew gfa d%s

d) KiloBauds per second / fhdllsisd 9 s

ii) Which of the following speeds is higher than 512 Kbps?

T # @ Fia & wiiz 512 Kbps & 310=F §°?

a) 256 Kbps

b) 128 Kbps

c) 1 Mbps

d) 64 Kbps
SECTION-D
(3rT8TeT - 8

13. Write a Python program to implement a queue.

F P AN HA & AT ayeT e ol

ORMAT
Explain the concept of selection sort with an example.
fOFRIT Gic T TYURUT I Teh 3T8I0T & gy GHST|

14. What is RDBMS? Explain the following terms in the context of the relational
data model:

RDBMS &1 §? RoerTel 3T Afsel & ded § Arafaf@a Usel i carear +i:
i) Domain / A

ii) Tuple / T9el
iii) Relation / RerereT

ORAMAT

The XYZ School maintains records of its students and their subjects in two

tables: STUDENT and SUBJECT. The tables contain the following data:
6



XYZ Fhel 39 ot AR 3o fawat 1 Repl$ e eded: STUDENT 3R SUBJECT

# @ar gl ¢cgeg # Aeafaf@a ser &

STUDENT Table:

RolINumber||Name |Address |[Grade| StudentiD
1001 Aarav|| Delhi A S001
1002 Riya || Noida B S002
1003 Rahul|| Gurgaon| A S003
SUBJECT Table:

StudentID|| SubjectName|| Marks

S001 Math 85

S001 Science 90

S002 English 75

S003 History 80

a) Ildentify the candidate key/s in the STUDENT table.
STUDENT 2ol & #f3s¢ Hefl/s &I dgdred H|
b) Write an SQL query to retrieve the SubjectName and Marks for all subjects
of the student with StudentID S001.
T SQL FAY ford S StudentlD S001 arel ©F & T3 fawar & fow SubjectName
3R Marks 9red Y|
c) What is the degree of the SUBJECT table?
SUBJECT cae & f33ft &1 g2
d) What is the cardinality of the STUDENT table?
STUDENT 2dd &I HIfsaferel &ar g?

15. What do you understand by Data Transfer Rate (DTR)? Explain the different
units of data transfer rate, such as bps, Kbps, Mbps, Gbps, and Tbps. Also,
7



explain how increasing the bandwidth of a network affects the DTR.
3T g Y€ (DTR) & 319 FIT THASIT 87 3¢l oW I¢ &l Afded sdheal o
bps, Kbps, Mbps, Gbps, 3R Tbps &I THATT| Acas I dsfasy s« & DTR W
FT IHTT ISdT 87

OR/ It
Write short note on the following:

faf@a @ gfgreq ool faf@T:

a) FTP
b) Bluetooth / se[c
c) HTTP
d) Wi-Fi



